20224




'20~'21d

A AN H WAL 5=( @9 © Ba/kg-dry ) HE5 9
A A A =} (HAAL~F)
6OCO 134CS 137CS 4OK 137CS
6.50 637 1.39
01.04 | <0.105 = <0.0895
+0.226 +23.4 ~1.70
N 35° 18" 39.0°, E 129° 14" 58.0°
0.490 468 0.566
01.04 | <0.0387 | <0.0770
+0.0861 @ +18.3 ~0.840
N 35° 15" 55.9°, E 129° 14" 33.9"
'20~'21d
HE YAsE=( @9 Ba/kg-dry ) HE5 9
Q] =} (HA2~FA)
GOCO 134CS 137CS 40K 137CS
0.341 854 <0.119
01.04 | <0.0943 | <0.0771
+0.0847 | +31.1 ~0.993
N 35° 19" 29.8°, E 129° 15 6.0°
'20~'214d
L YAV F=( 99 : Bg/L ) HE5 9
SP (HA~F)
3H GOCO 1311 134CS 137CS 3H 1311
01.04 | <1.03 |<0.00339 | <0.0167 | <0.00329 | <0.00277 | <0.83 | <0.00211

N 35° 17" 57.0", E 129° 15 28.0"




'20~'21d

E AR E( 99 Ba/L) SEE
97 Az~ )
3H GOCO 1311 134CS 137CS SH 1311

0.0628 0.
01.04 <1.03 | <0.00176 <0.00171 | <0.00198 | <0.89 0-00560

+0.0056 ~0.353
=(EY)

'20~'214d

oE WAl S22 ( &9 : Ba/kg-fresh ) HE5H 9
SE (A2~A )

60Co 131y 184y | 1870 Be 40 1370

01.04 | <0.0782 | <0.0393 | <0.0358 | <0.0420 13.3 136 <0.0259

+0.592 | £5.22

Y

=5

N 35° 17" 45.57, E 129° 15" 24.9"




WAL 5 E( 99 © mBq/L,

AR A 3 2 3
o Awet 2 °H : Bo/L ) Ao~ )
X] H EZ} 3 58 134 137 3 137
AR H Co Cs Cs AR H Cs
9.1 1.69 6.9 <0.76 <1.35
1uf)<= 01.05 <1.03 <0.311 <0.425
b +0.53 +0.451 ~9.6 ~6.33 ~2.85
9.4 1.54 75 <0.82 <0.498
28] 01.05 <1.01 <0.518 <0.387
L +0.53 +0.458 ~9.5 ~51.1 ~2.90
8.7 1.22 7.5 <0.487
v 4= 01.05 <1.01 <0.504 <0.437 <0.84
ST +0.52 +0.475 ~9.9 ~3.19
9.2 1.53 6.7 0.888
4u)) 4= 01.05 <1.04 <0.416 | <0.506 <0.85
L +0.53 +0.455 ~10.2 ~2.74
1.23 8.5 <0.75
a4 01.04 - - <0.696 | <0.369 2.55
+0.410 ~9.1 ~5.44
1.51 8.4 0.89 <0.487
2 01.04 - - <0.511 <0.489
o +0.428 ~9.2 ~4.65 ~1.90
9.4 836 1.94
A= 01.04 <1.02 - - - <0.91
+0.53 ~8.9 ~2.20
9.6 7.5
FARS) 01.04 <1.02 - - - <0.93 1.86
4% +0.54 ~8.4
) 9.4 7.8 <0.525
[ 01.04 <1.04 - - - <0.91
el +0.54 ~8.5 ~1.66
9.6 1.88
+3 01.04 <1.03 - - -
T8 +0.54 ~2.16
- BAYEEo] obd g UEh.




O S71GA7T 574)
24 oo 20~'21d WEH
( &9 : mBg/m' ) (HA2~F )
72 AALR
1311 134CS 137CS 1311 134CS 137CS
#1 | 12.28 ~ 01.03 | <0.0232 | <0.0314 | <0.0342
#2 0103 ~ 01.10 | <0.0253 | <0.0318 | <0.0338
#3 0110 ~ 0117 <0.0695 | <0.0608 | <0.0853 | <0.0533 | <0.0616 | <0.0863
#4 0117 ~ 01.24 | <0.0516 | <0.0632 | <0.0585
#5 0124 ~ 0131 | <0.0585 | <0.0289 | <0.0428
O 713 =7
ERERE 20~'21d MBS
( &9 @ mBa/m' ) (H2=~H)
T2 AH9R
1311 134CS 137CS 1311 134CS 137CS
#1 1228 ~ 01.03 <0.0354 | <0.0347 | <0.0390
#2 0103 ~ 0110 <0.0524 | <0.0246 = <0.0370
#3 0110 ~ OL17| <0468 | <0.335 <0316 | <00367 | <0.0453
#4 0117 ~ 01.24| <0.352 | <0.356 | <0.365
#5 0124 ~ 0131 | <0.0409 | <0.0287 | <0.0318
> 3 AFFeA Plol HE HAS




